**Event Number** E-14-22

**Event Title**Bay Drive Neighborhood Stormwater Improvements Project [Surtax Funded Project]

Event Type ITB

 Issue Date
 8/25/2022 07:19:46 PM (ET)

 Close Date
 10/17/2022 02:00:00 PM (ET)

Responding Supplier	City	State	Response Submitted	Lines Responded	Response Total
CBE Construction (Compass			10/17/2022 11:50:00 ANA (FT)	26	
Point Surveyors)	Pompano Beach	FL	10/17/2022 11:50:09 AM (ET)	26	\$1,392,382.00
Roadway Construction, LLC	Miami	FL	10/17/2022 10:04:28 AM (ET)	26	\$1,461,720.65
C&W pipeline,inc.	Opa-locka	FL	10/17/2022 12:57:32 PM (ET)	26	\$1,462,866.00
ENCO, LLC	Pembroke Park	FL	10/17/2022 12:34:36 PM (ET)	26	\$1,565,810.00
Sun Up Enterprises	Weston	FL	10/17/2022 12:04:54 PM (ET)	26	\$1,749,981.00
Southern Underground					
Industries	*	*	*	*	*
Man-Con Incorporated	Deerfield Beach	FL	10/17/2022 01:32:46 PM (ET)	26	\$2,886,615.87

<sup>\*</sup> Failed to upload a copy of bid bond as required by section D.9 of the ITB. Bid is nonresponsive.

				CBE Construction (Compass Point Surveyors)		Roadway Construction, LLC		C&W pipeline,inc.	
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended
1	Mobilization	1	LS	\$95,000.00	\$95,000.00	\$91,589.70	\$91,589.70	\$82,500.00	\$82,500.00
2	Maintenance of Traffic	1	LS	\$6,000.00	\$6,000.00	\$6,227.56	\$6,227.56	\$30,000.00	\$30,000.00
3	Clearing and Grubbing	1	LS	\$12,500.00	\$12,500.00	\$63,971.90	\$63,971.90	\$5,000.00	\$5,000.00
4	Testing and Miscellaneous	1	LS	\$7,500.00	\$7,500.00	\$18,163.73	\$18,163.73	\$6,000.00	\$6,000.00
5	Contingency	1	LS	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00
6	Erosion/PollutionControl	1	LS	\$15,000.00	\$15,000.00	\$648.70	\$648.70	\$11,500.00	\$11,500.00
7	Tree Protection	1	LS	\$5,000.00	\$5,000.00	\$4,893.51	\$4,893.51	\$1,500.00	\$1,500.00
8	Inlet Protection System	45	EA	\$500.00	\$22,500.00	\$129.16	\$5,812.20	\$150.00	\$6,750.00
9	Remove Existing Drainage								
9	Structure	11	EA	\$614.00	\$6,754.00	\$696.11	\$7,657.21	\$1,300.00	\$14,300.00
10	Remove and Dispose Drainage								
10	Pipe	1044	LF	\$5.00	\$5,220.00	\$16.04	\$16,745.76	\$15.00	\$15,660.00
11	Grout Fill 12" RCP per FDOT								
11	Spec. 121	192	LF	\$52.00	\$9,984.00	\$31.95	\$6,134.40	\$12.00	\$2,304.00
12	FI 4' Diameter Drainage								
12	Structure	31	EA	\$5,323.00	\$165,013.00	\$6,969.52	\$216,055.12	\$6,250.00	\$193,750.00
13	FI 5' Drainage Structure	1	EA	\$9,250.00	\$9,250.00	\$7,417.38	\$7,417.38	\$8,500.00	\$8,500.00
14	F Type "C" Catch Basin	27	EA	\$4,148.00	\$111,996.00	\$5,762.97	\$155,600.19	\$5,250.00	\$141,750.00
15	F Type "F" Catch Basin	1	EA	\$5,600.00	\$5,600.00	\$6,920.65	\$6,920.65	\$5,850.00	\$5,850.00
16	F Type "H" Catch Basin	1	EA	\$6,900.00	\$6,900.00	\$3,800.42	\$3,800.42	\$5,500.00	\$5,500.00
17	F I 15" Diameter RCP	123	LF	\$108.00	\$13,284.00	\$112.85	\$13,880.55	\$110.00	\$13,530.00
18	F   15" Diameter HP (PP)	1524	LF	\$95.00	\$144,780.00	\$98.86	\$150,662.64	\$115.00	\$175,260.00
19	F I 18" Diameter HP (PP)	2445	LF	\$102.00	\$249,390.00	\$109.33	\$267,311.85	\$125.00	\$305,625.00
20	1" Milling Overlay	1593	SY	\$24.00	\$38,232.00	\$15.05	\$23,974.65	\$19.00	\$30,267.00
21	Pavement Restoration	7575	SY	\$32.00	\$242,400.00	\$23.46	\$177,709.50	\$28.00	\$212,100.00
22	Excavate 1-Foot Deep Swale								
22	With 4:1 Bank	1271	CY	\$39.00	\$49,569.00	\$22.94	\$29,156.74	\$10.00	\$12,710.00
23	F I Grass Sod	5500	SY	\$6.00	\$33,000.00	\$8.51	\$46,805.00	\$8.00	\$44,000.00
24	F I Pavement Markings	1	LS	\$7,500.00	\$7,500.00	\$10,571.29	\$10,571.29	\$8,500.00	\$8,500.00
25	Permit Fee Allowance	1	AL	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
26	Indemnification	1	LS	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00
			Total Price	\$1,392,382.00	Total Price	\$1,461,720.65	Total Price	\$1,462,866.00	

				ENC	O, LLC	Sun Up Enterprises		
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	
1	Mobilization	1	LS	\$60,000.00	\$60,000.00	\$175,000.00	\$175,000.00	
2	Maintenance of Traffic	1	LS	\$25,000.00	\$25,000.00	\$40,000.00	\$40,000.00	
3	Clearing and Grubbing	1	LS	\$40,000.00	\$40,000.00	\$25,000.00	\$25,000.00	
4	Testing and Miscellaneous	1	LS	\$20,000.00	\$20,000.00	\$50,000.00	\$50,000.00	
5	Contingency	1	LS	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	
6	Erosion/PollutionControl	1	LS	\$5,000.00	\$5,000.00	\$12,500.00	\$12,500.00	
7	Tree Protection	1	LS	\$11,000.00	\$11,000.00	\$7,500.00	\$7,500.00	
8	Inlet Protection System	45	EA	\$100.00	\$4,500.00	\$350.00	\$15,750.00	
9	Remove Existing Drainage							
9	Structure	11	EA	\$500.00	\$5,500.00	\$2,750.00	\$30,250.00	
10	Remove and Dispose Drainage							
10	Pipe	1044	LF	\$5.00	\$5,220.00	\$40.00	\$41,760.00	
11	Grout Fill 12" RCP per FDOT							
11	Spec. 121	192	LF	\$40.00	\$7,680.00	\$30.00	\$5,760.00	
12	FI 4' Diameter Drainage							
12	Structure	31	EA	\$5,800.00	\$179,800.00	\$8,450.00	\$261,950.00	
13	FI 5' Drainage Structure	1	EA	\$6,500.00	\$6,500.00	\$8,950.00	\$8,950.00	
14	F   Type "C" Catch Basin	27	EA	\$5,200.00	\$140,400.00	\$7,550.00	\$203,850.00	
15	F   Type "F" Catch Basin	1	EA	\$6,000.00	\$6,000.00	\$8,300.00	\$8,300.00	
16	F   Type "H" Catch Basin	1	EA	\$7,000.00	\$7,000.00	\$10,750.00	\$10,750.00	
17	F I 15" Diameter RCP	123	LF	\$110.00	\$13,530.00	\$165.00	\$20,295.00	
18	F I 15" Diameter HP (PP)	1524	LF	\$100.00	\$152,400.00	\$115.00	\$175,260.00	
19	F I 18" Diameter HP (PP)	2445	LF	\$105.00	\$256,725.00	\$120.00	\$293,400.00	
20	1" Milling Overlay	1593	SY	\$30.00	\$47,790.00	\$17.00	\$27,081.00	
21	Pavement Restoration	7575	SY	\$38.00	\$287,850.00	\$19.00	\$143,925.00	
22	Excavate 1-Foot Deep Swale							
22	With 4:1 Bank	1271	CY	\$55.00	\$69,905.00	\$15.00	\$19,065.00	
23	F I Grass Sod	5500	SY	\$8.00	\$44,000.00	\$5.75	\$31,625.00	
24	F I Pavement Markings	1	LS	\$40,000.00	\$40,000.00	\$12,000.00	\$12,000.00	
25	Permit Fee Allowance	1	AL	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	
26	Indemnification	1	LS	\$10.00	\$10.00	\$10.00	\$10.00	
					\$1,565,810.00	Total Price	\$1,749,981.00	

				Southern Underground Industries		Man-Con Incorporated		
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	
1	Mobilization	1	LS	*	*	\$210,000.00	\$210,000.00	
2	Maintenance of Traffic	1	LS	*	*	\$80,000.00	\$80,000.00	
3	Clearing and Grubbing	1	LS	*	*	\$4,429.28	\$4,429.28	
4	Testing and Miscellaneous	1	LS	*	*	\$38,421.79	\$38,421.79	
5	Contingency	1	LS	*	*	\$125,000.00	\$125,000.00	
6	Erosion/PollutionControl	1	LS	*	*	\$18,000.00	\$18,000.00	
7	Tree Protection	1	LS	*	*	\$7,300.00	\$7,300.00	
8	Inlet Protection System	45	EA	*	*	\$2,003.35	\$90,150.75	
9	Remove Existing Drainage Structure	11	EA	*	*	\$1,384.45	\$15,228.95	
10	Remove and Dispose Drainage Pipe	1044	LF	*	*	\$22.67	\$23,667.48	
11	Grout Fill 12" RCP per FDOT Spec. 121	192	LF	*	*	\$70.42	\$13,520.64	
12	FI 4' Diameter Drainage Structure	31	EA	*	*	\$7,700.00	\$238,700.00	
13	FI 5' Drainage Structure	1	EA	*	*	\$11,283.02	\$11,283.02	
14	F I Type "C" Catch Basin	27	EA	*	*	\$8,751.95	\$236,302.65	
15	F I Type "F" Catch Basin	1	EA	*	*	\$6,333.02	\$6,333.02	
16	F   Type "H" Catch Basin	1	EA	*	*	\$9,028.64	\$9,028.64	
17	F I 15" Diameter RCP	123	LF	*	*	\$343.80	\$42,287.40	
18	F I 15" Diameter HP (PP)	1524	LF	*	*	\$265.17	\$404,119.08	
19	F I 18" Diameter HP (PP)	2445	LF	*	*	\$285.95	\$699,147.75	
20	1" Milling Overlay	1593	SY	*	*	\$55.00	\$87,615.00	
21	Pavement Restoration	7575	SY	*	*	\$53.00	\$401,475.00	
22	Excavate 1-Foot Deep Swale With 4:1 Bank	1271	СУ	*	*	\$50.00	\$63,550.00	
23	F I Grass Sod	5500	SY	*	*	\$8.75	\$48,125.00	
24	F I Pavement Markings	1	LS	*	*	\$7,920.42	\$7,920.42	
25	Permit Fee Allowance	1	AL	*	*	\$5,000.00	\$5,000.00	
26	26 Indemnification 1		LS	*	*	\$10.00	\$10.00	
* Faile	d to upload a copy of bid bond a	s requir	ed by	<b>Total Price</b>	*	Total Price	\$2,886,615.87	

section D.9 of the ITB. Bid is nonresponsive.

Line	Attribute Name	CBE Construction (Compass Point Surveyors)	Roadway Construction, LLC	C&W pipeline,inc.	ENCO, LLC	Sun Up Enterprises	Southern Underground Industries	Man-Con Incorporated
1	Substantial Project Completion	180	90	270	240	300	*	150
2	Final Project Completion	240	30	30	30	30	*	30
3	Conflict of Interest	No	No	No	No	No	*	No
1 4	Vendor Certification Regarding Scrutinized Companies Lists (Any							
	Dollor Amount)	Certified	Certified	Certified	Certified	Certified	*	Certified
5	Drug-Free Workplace	Yes	Yes	Yes	Yes	Yes	*	Yes
6	Acknowledgement of Addenda	Yes	Yes	Yes	Yes	Yes	*	Yes
7	Terms & Conditions	Agree	Agree	Agree	Agree	Agree	*	Agree

<sup>\*</sup> Failed to upload a copy of bid bond as required by section D.9 of the ITB. Bid is nonresponsive.